ROL-05 Roller Installation Guide

Aluminum Roller for 1"-3" Pipe

1/2" X 1" Hex Bolt
Use 1/2" Hardware
for Single Roller
Center-Mounted
on Blox

ROL-05
Roller and
Hoop

1/2" Nut

3/8" X 1" Hex Bolt
Use 3/8" Hardware
for Multiple Rollers

ROD-03

1/2" Threaded
Rod

and Hardware

3/8" Nut m
Insert into Blox \
3 Places | 'i'

3/8"
Threaded
Rod
3/8" Nut
1/2" Nuts
Insert into Blox
as shown

Optional ROD-03 accessory: ROO‘ m@

1/2" Threaded Rod kits available

Otherwise:
Contractor is to supply 3/8" or 1/2" nuts, bolts, and threaded rod

Adjustable Piping Support

QOTESS _ US PAT. 7,731,131 CAN.PAT.2,675,158
Use 15 ft./Ibs max torque on jamb nuts on Blox top surface; Blox with 1-3" Pipe Roller Assy.
use Loctite on threads _ Vox Load Por Blox
A Maximum height on single Blox is 14" overall single Point: 250 Ib/113 kg
A Install ro_ds a minimum of 1"into Blox, and_ a max of 3" Dual Point or Strut-Mounted Load: 350 Ib/158 kg
A ROL-05 is not to be used with XTB-02 applications P: (860) 979-0345 www.rooftopblox.com
F: (860) 871-9218 info@rooftopblox.com

REV: 09/2014 For the most current revision of this document, go to www.rooftopblox.com




